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Instructlons

o_' : *Thls pape; con51sts of thlee parts Part A Paf[ B and Paﬁ C

e "Part A contams 2(} muluple cho1ce questions that are compulsory, and thc answe1s should_'-'_- e

. _-be wr1tten on the paper 1tseif Taklng the Part I paper out of the exammation hall 1s stncﬂy.f_g : o

”:.ﬁprohlblted . s
° _-:_-Part B and Part C contams sn( (6) Essay Type quesﬁons EATE B
¢ '-..'AHSWGI 0111Y fﬂ'ﬂ' (94) queSﬁons by seiectmg at least two (02) questzons form part B and_':__ _53:':

| selectmg at least one (01) questlon from part C Sl

o _Usmg mo’olle phones smart computers or any othel dlgltal dev1ce is. not ailowed R R R
o Calculator are allowed PRI S 8 :

. TotallOO_mazks. g




PART A

The difference between microeconomics and macroeconomics is:

a) microeconomics studies the effects of government taxes on the national
unemployment rate.
b) macroeconomics studies the effects of government regulation and taxes on the price

of individual goods and services whereas microeconomics does not.
c) microeconomics studies the entire economy but macroeconomics studies an

1nd1v1dual fnm

d) - -'.-m1oroeconom1cs studles demsmns of 1nchv1dua1 people and flrms and B

macweconomlcs studles the ent1re natlonal economy

Aftel you graduate you have demded to aocept posztlon WOlkll‘lg at the leadmg apparel S

:' company f01 Rs 35 000 per month The two other offe1s you 1ece1ved were workmg for a :-;:j" '_
-supermarket for Rs 28 000 and W01k1ng f01 an aud1t ﬁrm for Rs 32 000 What 1s the

oppon,umty cost of acceptmg the posmon at the appa1 el company‘7

e a) *:_The Rs 32 000 you have been pald workmg f01 an audit fnm and the Rs 28 000 you_i |

e j_.:__._:-would have been paxd Workmg fo1 a supermalket R
. b) 'The Rs 28 000 you Wouid have been paid wmklng f01 a supelmalket
. c) The Rs 35 000 you are paid f01 workmg at the appalel company

.' d) 'i;'i_.'_The Rs 32 000 you Would have been paxd W01k1ng fo1 an aud1t ﬁrm oy

A consumer Wlth a g1ven 1ncome wﬂi maxnmze thelr utihty When 1 o _' _
a) the marglnal utihtles derlved from each commodlty consumed are plopornonai to .
their prices. o
b)  the marginal utility derived from each product consumed is zero.
¢)  the marginal utility derived from each commodity is equal. - |

d)  the total utility derived from each commodity consumed is equal.



4. If the supply function in a market is Qs = ~10 + 10P and the demand function is Qd= 18 -
4P, and the government puts in a price floor at Rs.3, what will the result be?
a})  No effect.
b)  Shortage of 14 units.
c) Surplus of 14 units.
d) Surplus of 10 units,

5. An increase in the price of a product will reduce the amount of it purchased because:
a) supply curves are upslopmg

'b_) - the h} gher price means that 1eal mcomes have risen

) '.;consumers w1ll substltute othe1 ploducts for the one Whose pnce has risen. - %
' d) : :-..'consumers substltute relatwely hlgh-pnced produet f01 1e1at1ve1y low—pncedj

e .'_.pmduets e A

6. '; thch of the fellowmg statements about the relat1onsh1p between the p11ce elast1c:1ty of

X demand and revenue 1s TRUE'?

:'_-'a) ."'_--If demand of prlce lnelastzc then mcneasmg puce w1lI demease 1evenue |
.ﬁb) : _' "_':If dernand of prlce elast1c then decreasm'g'jance w1ll 1ncrease revenue

:._ c) f"- :If demand of pnce melas’uc then decreasmg puce Wlll 1n01 ease levenue

| d4) i :_If demand of pnce elastlc then mmeasmg prlce w1ll mcrease 1evenue

7. Total p} oductlon Wlll be max1mum when. o
a)_ o malgmal product1on is maxnnum o
b). average produetlon is max1murn I
c) mar gmal ploductxon is zero

d)  average pr oductzon is equal to mar gmal P oducuon



8.

9.

10.

1.

: a) 'fnm s margmal 1evenue exceeds the p11ce of the pmduct

o) -inm s mar gmal 1evenue 1s 1ess than aveiage 1evenu<,

Which one of the following statements is TRUE?
a) If the marginal cost is greater than the average cost the average cost falls
b) I the marginal cost is greater than the average cost the average cost increases
¢} Ifthe marginal cost is positive total costs are maximized i
d)  Tf the marginal cost is negative total costs increase al a decreasing rate if output

increases

A firm produces 200 units and the total cost of production is Rs.4000. When they increase

output to 220, the cost rises to Rs 4200, When the ﬁrm produces Zero output the cost s
- Rs. 1000 What is the var zable cost per umt When they pzoduce 200 umts‘? S

D Re30
b _'lz.[.Rs 15

: :'jIn the case of a pelfectly competmve ﬁrm the

b) .change 111 the ﬁrm s total 1evenue equals the pnce of the pmduct mu]tlphed by the_- __ :

- 'change 1n quantlty Sold

| d) .i:’.-pnce of the ploduct fails sharply when the quantlty the ﬁrm seils doubies S

A pelfe{,'fly competuwe ﬁlm shouid Leduce output or Shut down m the: short tun 1f prlce 1s P

equal to mar gmal cost and pnce is

a) greater th_an average total cost.

b} less than average total cost.

c) greater tha_n average va_riable cost.
d) less than avérage.vari.able cost.




12.

13.

14,

I5.

Which of the following statements is correct?

a} The market demand and the firm's demand are the same for a monopoly.
b) Monopolies have perfectly inelastic demand for the product sold.

c) Monopolies are guaranteed to earn an economic profit.

d) Monopoly not reduce economic welfare. |

Which of the following statement differentiate perfect competition from monopolistic

competition?

a)

3 _For a fou1 Sector 01 open economy the condltion for ethbﬂum IS

K :a)_ __ :_:-_-_:-;_:-; Savmgs + taxes + Imports = Investment + govt expendﬂuze + eXportS o
b) Total Leakages i -Total Injeetzons o o _
9 '.}'3-'_.'Agglegate Output "Aggregate_Expendlture

a .::..';.":3-:A11 of these : |

A

Firms in monopolistic competition compete on their product's price as well as its

_ quahty and mar keting

:'In monopohs’tlc competxtlon entry 1nt0 the mdustry is uanocked

b)
_ _e) = = f;'Perfect competlnon has a lalge numbe1 of 1ndependent1y actmg seHers
' d) _;.Only fnms m monopohstlc competxtlon can earn an eeonomlc proiit in the shortf' 3. 5 E

'-The error Wthh arlses in natzonal mcome estimatlon 1f we add up ‘{he total output of all the:' S Lo

Sectors m the economy, mstead of addmg up the output of ﬁna] goods and serv1ces only 13'5';._.'- i __;.':

known as;

a) 'Inoome ertor

b) Double counting error
c) Counting error

d) Estimation error




16.

17.

18.

19.

20.

) '.jObS 1n certam 1ndustr1es

E S :_zthey Stop lookmg fOI WOlk

| a_) E ._'-Inﬂation decreases

. :-b) ' .Inﬂation remams unchanged

The equilibrium of the IS curve and the LM curve determines:

a) The price level and the inflation rate
b) The interest rate and the price level
c) Investment and the money supply

d) The interest rate and the level of output

In the IS-LM model, a decrease in the interest rate would be the result of a/ an:

a)  increase in the money supply
b)  increase in government purchases

c) decrease in taxes _—

'd)_ 1nc1 ease 1n money demand

' ;.Sti uctu1 al unemployment

| :Accmdmg to the Phﬂhps curve as unemployment falls

c) Inﬂauon 1nc1eases

d) 'Output falls

-_ a) 1s due to changes in the stmcture of the economy that result m a s1gn1ﬁcant loss of ;-:':f_'

i ‘o) .'__occuxs duimg recessxons i : __
_: ¢) s due to the nmmal WOIkIIlg of the labor malket s Sl
d) _'__j_'_'flesults when people become d1scouraged about the1r chanc es of ﬁndmg a JOb _so"f.' [

When too many funds are hunting down too few goods, the probable resuit of inflation is

recognized as
a) Deflation
b)  Cost-push inflation
c) Built in inflation

d)  Demand-pull inflation

(01 x 20 = Total marks 20)




PART B
Question No. (1

a) "Microeconomic and macroeconomics help to understand and p1ed1ct the market
conditions with ingh rehablhty whxle reducing the uncertamty and risk." with reference to
the above statement briefly explain how business economics contribute to managerial

decision making process.
(08 marks)

b) _._Iliustrate follcwmg 51tuat10ns by usmg plOdLlC'EIOll pOSSlblhty Cmvﬂ .. I

(1) Increase utlllzation ot resomces

_(11) Government 51gned new trade agleements w;l,h developed countnes [

| (111) Due to natural calamlues cut down Rs 50 mﬂhon worth tea plants

(06 Ma1ks)__-_ -

c) Whatalethej ustlﬁablereasons of the'-i_ritei_'fe'r'_efr_ie_e of government in free Ztl_;'a;dé 'e'co"ridmy'_. S

'(T'otal 20 Marks)

Questl‘mNO 02 ; R

4)  Whydoesthe demand curve slope downwards?
b) Differentiate_ fhe changesm quantlty Sﬁi}ply ﬁom changes in suppiy o
o R AR (04 marks)
c) Suppose that the. demand and supply for mﬂk can be 1ep1esented by the following -
equations: ' ' '
Qd=100-6P
Qs=28+3P



Where P is the price per Liter of milk, and Q represents the number of milk liters in thousand

(,000) per month.
i, Calculate the equilibrium price and quantity of milk.
(02 marks)
ii.  To help dairy farmers, the government sets a minimum price of Rs.10 per Liter of milk.
What is the new quantity of milk sold in the marketplace?
(02 marks)
ili.  Suppose that the government supports to purchase of any excess milk in the market which
is unable to sell to consumers at Rs.10 per Liter. Calculate the government expenditure to
buy excess milk. - B
E L L  @maky
d) _:_Explam the effect of the foﬁowmg scenallos related to the laptop malket ethbnum AR
': .__:pnee and quanuty by usmg sultabIe dlaglams _ i '
: I '_Increase m the cost of 1aw materiais used m the ploductlon of laptops
11 Decrease the software prlces ' o i |
111 :_I_?Deerease the average 1ncome due to an econonnc downtum S
1v I_ _'Increase the onhne learmng due to COVID 19 pandemic P E L
: (TN T : Y (4 x 02 ma1ks)_;
LR (Total 20 marks) o
Questmn N003 - i S
2) 1;w.hgt_j_ao_esjn;eaﬁ"b_yf the equi-marginal utility? e
e g (06ma1ks)':"-
b) "In the start run Of ploductlon at ieast one of the mputs should be ﬁxed and 1f the ﬁlm - .
wants to increase output it can on}y do by i mcreasmg the quantlty of the vanable facto1s of
production.” Referring this statements highlight the best zone for the production in the
short run by using appropriate graphs.
| (08 marks)
c) Differentiate return to scale from economies of scale.
(06 marks)
{Total 20 Marks)




Question No. (4

a)

b)

5'_(11) What 1s the proﬁt atthat level ofoutput _' o S s
R (Ogmarks)

_ "How lt dlffer ﬁ om monopohsnc competltlve market

What are the necessary assumptions to be a perfect competitive market.

importance of each and every assumption.

The demand function faced by a monopolist for a product is given by

P= 400 -8Q

The firm's total cost function is given by,

TC = 50 +2Q° .

Highlight the

(06 marks)

a)

b)

Briefly explain how to avoid double counting in' balculaﬁﬁg GDP. -

' .-(i'). Detel‘mme the proﬁt maxnnlzmg output Ievei and pnce of the ﬁrm.'.' I

"'What are the spemal charactenstics that can be seen in the ohgopoly malket structme G

i .__.__"'33(06 ma1ks):'-'-:.3.::'.j-.j:_:_';s'-. ;
(Total 20 Ma,,ks)___-:__.-'_ e

- (04 marks) = -

Find the Gross Domestic Product at market price (GDPwmp) and Gross National Product at

market price (GNPyp) from the following data using the income method. Show that it is

the same as that obtained by expenditure method.




ftem _ Value (Rs, Million) _

Personal consumption 7,314

Depreciation 800
Wages 6,508
Net indirect taxes | 1,000
Interest 1,060

Investment 1,442

Government expenditure 2,196

Rental income 34

Cooperate profit - oo T 682
Exports |16 -

c) Descube the Leasons for unemployment and p10V1de solutlons to Ieduce the unempioyment {_:::"'3. g

Ievel in SnLanka _53::_' i R R
_ 3 SR (06 marks) o _
(Total 20 marks)"_

Questiéh No 06 _ -

a) You are glven the followmg mformatmn of a: hypothetlcai economy (All the Values are 1n'::" |
rupeesmﬂhon) : | : | - : B B A TRt
C = 250+0.75 yd__'(_Cénsﬁ;ﬁpfiQﬁ) e
[ = 300-25r (Investment)
G = 200 (Governhient expenditure)
T =200 (Taxedy
md = Y -100r (money demand)
ms = 500 (money supply)

10



b)

'causes have contributed to the cun ent hlghest mﬂatmn 1dte 111 Sn Lanka

1) Find out the equilibrium income (y) and interest rate (r)
i) Find out the level of consumption, Investment, mt and msp when the economy is

in equilibrium.

(08 marks)
Using the IS - Lm model examine the impact of followings on economy.
i) Government decision to increase money supply.
i) Huge demand for consumption,

: _(O6_m_arks_)_ L

11

__"Srl Lankas annual mﬂation clunbed to 69 8% in September of 2022 M Descnbe what3:-

. (06 meuks):. S |
'_ (Total 20 Marks):-_:




